SB018-25 On-Demand Underground Electric Distribution Cable Installation on an Annual Contract Electric Department

				E&A Adventures, LLC		Electra Grid Solutions LLC		Grideo, Inc.		Over and Under General Contractors, Inc.		Pike Electric, LLC	
ITEM#	DESCRIPTION		ROX. FY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	Install three phase terminating cabinet	3	Ea	\$1,287.81	\$3,863.43	\$285.12	\$855.36	\$892.54	\$2,677.62	\$1,975.47	\$5,926.41	\$1,031.63	\$3,094.89
2	Install PME Switchgear	3	Ea	\$623.00	\$1,869.00	\$696.17	\$2,088.51	\$2,121.71	\$6,365.13	\$1,873.47	\$5,620.41	\$1,698.50	\$5,095.50
3	Install 48" fiberglass ground sleeve	3	Ea	\$495.00	\$1,485.00	\$609.48	\$1,828.44	\$145.18	\$435.54	\$3,341.02	\$10,023.06	\$44.18	\$132.54
4	Terminate PME Switchgear - 600 amp side	6	Ea	\$175.00	\$1,050.00	\$1,352.16	\$8,112.96	\$211.22	\$1,267.32	\$1,452.61	\$8,715.66	\$645.00	\$3,870.00
5	Terminate PME Switchgear - 200 amp side	6	Ea	\$125.00	\$750.00	\$560.46	\$3,362.76	\$211.22	\$1,267.32	\$1,162.09	\$6,972.54	\$505.25	\$3,031.50
6	Directional Trench 2" Conduit	5000	Ft	\$18.00	\$90,000.00	\$26.09	\$130,450.00	\$7.27	\$36,350.00	\$19.26	\$96,300.00	\$27.79	\$138,950.00
	Directional Trench 4" Conduit	3000	Ft	\$24.00	\$72,000.00	\$29.67	\$89,010.00	\$7.27	\$21,810.00	\$25.40	\$76,200.00	\$32.97	\$98,910.00
8	Directional Trench 6" Conduit	2000	Ft	\$32.00	\$64,000.00	\$33.39	\$66,780.00	\$8.54	\$17,080.00	\$31.64	\$63,280.00	\$37.63	\$75,260.00
9	Dig open trench 48" deep - normal soil	5000	Ft	\$8.00	\$40,000.00	\$2.78	\$13,900.00	\$27.00	\$135,000.00	\$9.27	\$46,350.00	\$9.37	\$46,850.00
10	Dig open trench 36" deep - normal soil	1000	Ft	\$7.00	\$7,000.00	\$2.33	\$2,330.00	\$24.27	\$24,270.00	\$7.81	\$7,810.00	\$6.80	\$6,800.00
	Install 2" PVC Conduit in trench	3000	Ft	\$1.00	\$3,000.00	\$0.54	\$1,620.00	\$2.25	\$6,750.00	\$1.88	\$5,640.00	\$1.94	\$5,820.00
12	Install 4" PVC Conduit in trench	1000	Ft	\$1.00	\$1,000.00	\$0.99	\$990.00	\$2.25	\$2,250.00	\$2.29	\$2,290.00	\$4.84	\$4,840.00
13	Install 6" PVC Conduit in trench	2000	Ft	\$1.00	\$2,000.00	\$1.54	\$3,080.00	\$2.25	\$4,500.00	\$3.54	\$7,080.00	\$9.79	\$19,580.00
14	Install 3C 1000 kCMIL primary cable in 6 inch conduit	2000	Ft	\$3.00	\$6,000.00	\$4.20	\$8,400.00	\$3.32	\$6,640.00	\$8.75	\$17,500.00	\$3.71	\$7,420.00
15	Install 3C 1/0 primary cable in 4 inch conduit	2000	Ft	\$1.75	\$3,500.00	\$2.79	\$5,580.00	\$3.32	\$6,640.00	\$4.37	\$8,740.00	\$3.12	\$6,240.00
16	Install 1C 1/0 primary in 2 inch conduit	5000	Ft	\$1.00	\$5,000.00	\$0.93	\$4,650.00	\$1.81	\$9,050.00	\$2.60	\$13,000.00	\$1.23	\$6,150.00
17	Install 3C 1000 kCMIL primary cable in trench	2000	Ft	\$3.00	\$6,000.00	\$3.39	\$6,780.00	\$2.32	\$4,640.00	\$11.65	\$23,300.00	\$3.12	\$6,240.00
18	Install 3C 1/0 primary cable in trench	2000	Ft	\$1.50	\$3,000.00	\$2.52	\$5,040.00	\$2.32	\$4,640.00	\$7.08	\$14,160.00	\$2.63	\$5,260.00
19	Install 1C 1/0 primary cable in trench	4000	Ft	\$0.75	\$3,000.00	\$0.84	\$3,360.00	\$2.32	\$9,280.00	\$2.60	\$10,400.00	\$1.08	\$4,320.00
20	Backfill, close, and compact 48 inch deep trench	5000	Ft	\$8.00	\$40,000.00	\$4.18	\$20,900.00	\$2.25	\$11,250.00	\$1.98	\$9,900.00	\$2.17	\$10,850.00
21	Backfill, close, and compact 36 inch deep trench	1000	Ft	\$6.00	\$6,000.00	\$3.49	\$3,490.00	\$2.25	\$2,250.00	\$1.46	\$1,460.00	\$0.91	\$910.00
22	Install single phase padmount transformer	75	Ea	\$500.00	\$37,500.00	\$123.78	\$9,283.50	\$574.38	\$43,078.50	\$657.09	\$49,281.75	\$392.37	\$29,427.75
23	Install single phase preformed concrete transformer pad	50	Ea	\$125.00	\$6,250.00	\$90.11	\$4,505.50	\$211.22	\$10,561.00	\$353.88	\$17,694.00	\$152.09	\$7,604.50
24	Install residential street light on 16' MH FG pole	25	Ea	\$198.00	\$4,950.00	\$352.56	\$8,814.00	\$115.00	\$2,875.00	\$293.97	\$7,349.25	\$376.25	\$9,406.25
23	Terminate primary elbows in single phase padmount transformer	100	Ea	\$125.00	\$12,500.00	\$184.12	\$18,412.00	\$390.15	\$39,015.00	\$145.26	\$14,526.00	\$309.60	\$30,960.00
26	Install 1/0 underground triplex service wire	3000	Ft	\$6.00	\$18,000.00	\$0.81	\$2,430.00	\$1.22	\$3,660.00	\$2.40	\$7,200.00	\$0.96	\$2,880.00
27	Install 4/0 underground triplex service wire	1000	Ft	\$6.00	\$6,000.00	\$0.81	\$810.00	\$3.32	\$3,320.00	\$4.62	\$4,620.00	\$1.08	\$1,080.00

	Install 350 underground triplex service												
28	wire	1000	Ft	\$6.00	\$6,000.00	\$0.93	\$930.00	\$3.32	\$3,320.00	\$4.79	\$4,790.00	\$1.45	\$1,450.00
29	Install underground street light service wire	1000	Ft	\$6.00	\$6,000.00	\$0.75	\$750.00	\$1.22	\$1,220.00	\$2.03	\$2,030.00	\$0.86	\$860.00
30	Install secondary pedestal	20	Ea	\$85.00	\$1,700.00	\$96.45	\$1,929.00	\$89.42	\$1,788.40	\$290.21	\$5,804.20	\$52.65	\$1,053.00
31	Terminate underground triplex service wire in transformer/pedestal	70	Ea	\$75.00	\$5,250.00	\$31.54	\$2,207.80	\$211.22	\$14,785.40	\$187.35	\$13,114.50	\$52.15	\$3,650.50
32	Install three phase padmount transformer - 75kVA - 1000kVA	7	Ea	\$1,800.00	\$12,600.00	\$696.17	\$4,873.19	\$1,922.29	\$13,456.03	\$1,057.00	\$7,399.00	\$2,634.73	\$18,443.11
33	Install three phase padmount transformer - 1500kVA - 2500kVA	3	Ea	\$3,200.00	\$9,600.00	\$810.57	\$2,431.71	\$1,922.29	\$5,766.87	\$2,602.04	\$7,806.12	\$2,634.73	\$7,904.19
34	Install three phase preformed concrete transformer pad	10	Ea	\$162.00	\$1,620.00	\$210.52	\$2,105.20	\$465.42	\$4,654.20	\$1,081.63	\$10,816.30	\$239.52	\$2,395.20
35	Terminate 3C 1000 kCMIL primary cable on pole	6	Ea	\$796.00	\$4,776.00	\$676.08	\$4,056.48	\$390.15	\$2,340.90	\$2,955.92	\$17,735.52	\$693.38	\$4,160.28
36	Terminate 3C 1/0 primary cable on pole	15	Ea	\$385.00	\$5,775.00	\$502.36	\$7,535.40	\$390.15	\$5,852.25	\$1,540.41	\$23,106.15	\$639.63	\$9,594.45
37	Terminate 1C 1/0 primary on pole	15	Ea	\$145.00	\$2,175.00	\$245.36	\$3,680.40	\$390.15	\$5,852.25	\$498.68	\$7,480.20	\$231.13	\$3,466.95
38	Terminate primary elbows in three phase padmount transformer	60	Ea	\$225.00	\$13,500.00	\$552.36	\$33,141.60	\$390.15	\$23,409.00	\$1,162.09	\$69,725.40	\$464.53	\$27,871.80
39	Install Seed and straw	5000	Ft	\$2.25	\$11,250.00	\$1.46	\$7,300.00	\$7.23	\$36,150.00	\$2.50	\$12,500.00	\$2.07	\$10,350.00
40	Install sod	1000	Ft	\$4.50	\$4,500.00	\$3.52	\$3,520.00	\$9.23	\$9,230.00	\$12.07	\$12,070.00	\$2.17	\$2,170.00
41	Install #6 Duplex	5000	Ft	\$18.00	\$90,000.00	\$0.63	\$3,150.00	\$1.22	\$6,100.00	\$2.45	\$12,250.00	\$1.25	\$6,250.00
42	Install 4-way 200 amp junction	9	Ea	\$98.00	\$882.00	\$45.65	\$410.85	\$772.08	\$6,948.72	\$76.52	\$688.68	\$424.63	\$3,821.67
	Install single-phase terminating cabinet	10	Ea	\$225.00	\$2,250.00	\$123.78	\$1,237.80	\$761.75	\$7,617.50	\$918.37	\$9,183.70	\$227.36	\$2,273.60
44	Saw cut by foot	1	Ft	\$15.85	\$15.85	\$2.62	\$2.62	\$5.45	\$5.45	\$8.77	\$8.77	\$4.84	\$4.84
45	Installation of vault	2	Ea	\$475.00	\$950.00	\$213.84	\$427.68	\$2,121.71	\$4,243.42	\$1,936.76	\$3,873.52	\$336.99	\$673.98
46	Remove single-phase transformer pad	75	Ea	\$225.00	\$16,875.00	\$72.01	\$5,400.75	\$215.44	\$16,158.00	\$153.06	\$11,479.50	\$161.25	\$12,093.75
47	Install small hill saver	5	Ea	\$120.00	\$600.00	\$144.94	\$724.70	\$258.73	\$1,293.65	\$459.18	\$2,295.90	\$150.50	\$752.50
48	Install inground flush mount box (UV-2)	50	Ea	\$76.00	\$3,800.00	\$77.22	\$3,861.00	\$265.42	\$13,271.00	\$135.50	\$6,775.00	\$317.13	\$15,856.50
49	Install grounding assembly in existing padmount transformer	10	Ea	\$105.00	\$1,050.00	\$125.68	\$1,256.80	\$145.18	\$1,451.80	\$255.60	\$2,556.00	\$121.13	\$1,211.30
50	Additional driven ground rods	30	Ea	\$10.00	\$300.00	\$85.24	\$2,557.20	\$116.80	\$3,504.00	\$10.50	\$315.00	\$59.13	\$1,773.90
51	Removal of three-phase padmount transformer 75 KVA- 1000 KVA	6	Ea	\$375.00	\$2,250.00	\$696.17	\$4,177.02	\$961.15	\$5,766.90	\$528.50	\$3,171.00	\$532.13	\$3,192.78
52	Removal of single phase padmount transformer 15 KVA – 75 KVA	75	Ea	\$375.00	\$28,125.00	\$123.78	\$9,283.50	\$446.27	\$33,470.25	\$328.55	\$24,641.25	\$268.75	\$20,156.25
53	Removal of in-ground splice vault	1	Ea	\$75.00	\$75.00	\$60.23	\$60.23	\$390.15	\$390.15	\$550.00	\$550.00	\$274.13	\$274.13
54	Installation of 36" x 18" concrete street light stump	40	Ea	\$400.00	\$16,000.00	\$634.12	\$25,364.80	\$574.38	\$22,975.20	\$355.25	\$14,210.00	\$311.75	\$12,470.00
55	Hand trenching and digging (by the foot)	1	Ft	\$10.00	\$10.00	\$9.26	\$9.26	\$9.23	\$9.23	\$48.60	\$48.60	\$13.44	\$13.44
56	Rock removal (by cubic yard)	1	CY	\$65.00	\$65.00	\$441.60	\$441.60	\$18.14	\$18.14	\$270.41	\$270.41	\$938.74	\$938.74
	TOTAL			\$693,711.28		\$559,689.62		\$667,971.14		\$828,033.80		\$716,109.79	
	Will vendor hold pricing firm? Renewal Option	on 1		3% in	crease	4% increase		Yes		3% increase		4% in	crease
	Will vendor hold pricing firm? Renewal Option 2				crease		ncrease	Yes		3% increase			crease
	Will vendor hold pricing firm? Renewal Option 3				crease		ncrease	Yes		3% increase			crease
	Will vendor hold pricing firm? Renewal Option				crease								
w in vendor nord pricing firm? Renewar Option 4				3 /0 11	CICUSC	4% increase		Yes		3% increase		4% increase	

			Primoris T&I	Services, LLC	Service E	Clectric Co.	Southern U	Itility Group	U-TEC Construction, Inc.		
ITEM #	# DESCRIPTION APPROX. QTY		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
1	Install three phase terminating cabinet	3	Ea	\$2,373.35	\$7,120.05	\$299.58	\$898.74	\$2,000.00	\$6,000.00	\$901.97	\$2,705.91
2	Install PME Switchgear	3	Ea	\$2,799.85	\$8,399.55	\$1,405.98	\$4,217.94	\$2,000.00	\$6,000.00	\$2,997.10	\$8,991.30
3	Install 48" fiberglass ground sleeve	3	Ea	\$920.89	\$2,762.67	\$724.15	\$2,172.45	\$2,000.00	\$6,000.00	\$530.62	\$1,591.86
4	Terminate PME Switchgear - 600 amp side	6	Ea	\$1,058.52	\$6,351.12	\$1,294.20	\$7,765.20	\$1,500.00	\$9,000.00	\$808.20	\$4,849.20
5	Terminate PME Switchgear - 200 amp side	6	Ea	\$615.54	\$3,693.24	\$1,294.20	\$7,765.20	\$1,200.00	\$7,200.00	\$323.27	\$1,939.62
6	Directional Trench 2" Conduit	5000	Ft	\$19.88	\$99,400.00	\$29.85	\$149,250.00	\$22.00	\$110,000.00	\$23.00	\$115,000.00
7	Directional Trench 4" Conduit	3000	Ft	\$27.05	\$81,150.00	\$33.09	\$99,270.00	\$26.00	\$78,000.00	\$25.00	\$75,000.00
8	Directional Trench 6" Conduit	2000	Ft	\$29.73	\$59,460.00	\$42.60	\$85,200.00	\$32.00	\$64,000.00	\$29.00	\$58,000.00
9	Dig open trench 48" deep - normal soil	5000	Ft	\$8.35	\$41,750.00	\$8.21	\$41,050.00	\$7.14	\$35,700.00	\$6.00	\$30,000.00
10	Dig open trench 36" deep - normal soil	1000	Ft	\$7.20	\$7,200.00	\$6.16	\$6,160.00	\$6.83	\$6,830.00	\$5.31	\$5,310.00
11	Install 2" PVC Conduit in trench	3000	Ft	\$1.23	\$3,690.00	\$1.16	\$3,480.00	\$1.10	\$3,300.00	\$0.94	\$2,820.00
12	Install 4" PVC Conduit in trench	1000	Ft	\$1.47	\$1,470.00	\$1.16	\$1,160.00	\$1.25	\$1,250.00	\$1.06	\$1,060.00
13	Install 6" PVC Conduit in trench	2000	Ft	\$2.46	\$4,920.00	\$1.45	\$2,900.00	\$1.50	\$3,000.00	\$1.37	\$2,740.00
14	Install 3C 1000 kCMIL primary cable in 6 inch conduit	2000	Ft	\$5.06	\$10,120.00	\$4.80	\$9,600.00	\$6.30	\$12,600.00	\$4.87	\$9,740.00
15	Install 3C 1/0 primary cable in 4 inch conduit	2000	Ft	\$4.05	\$8,100.00	\$3.39	\$6,780.00	\$3.75	\$7,500.00	\$3.64	\$7,280.00
16	Install 1C 1/0 primary in 2 inch conduit	5000	Ft	\$1.62	\$8,100.00	\$1.13	\$5,650.00	\$1.25	\$6,250.00	\$1.20	\$6,000.00
17	Install 3C 1000 kCMIL primary cable in trench	2000	Ft	\$2.25	\$4,500.00	\$3.39	\$6,780.00	\$5.58	\$11,160.00	\$3.87	\$7,740.00
18	Install 3C 1/0 primary cable in trench	2000	Ft	\$1.35	\$2,700.00	\$2.43	\$4,860.00	\$3.00	\$6,000.00	\$2.62	\$5,240.00
19	Install 1C 1/0 primary cable in trench	4000	Ft	\$1.18	\$4,720.00	\$0.81	\$3,240.00	\$1.00	\$4,000.00	\$1.15	\$4,600.00
20	Backfill, close, and compact 48 inch deep trench	5000	Ft	\$12.28	\$61,400.00	\$5.16	\$25,800.00	\$2.00	\$10,000.00	\$1.87	\$9,350.00
21	Backfill, close, and compact 36 inch deep trench	1000	Ft	\$9.21	\$9,210.00	\$3.44	\$3,440.00	\$1.50	\$1,500.00	\$1.62	\$1,620.00
22	Install single phase padmount transformer	75	Ea	\$734.94	\$55,120.50	\$130.87	\$9,815.25	\$750.00	\$56,250.00	\$344.81	\$25,860.75
23	Install single phase preformed concrete transformer pad	50	Ea	\$226.69	\$11,334.50	\$92.73	\$4,636.50	\$78.80	\$3,940.00	\$200.32	\$10,016.00
24	Install residential street light on 16' MH FG pole	25	Ea	\$920.89	\$23,022.25	\$2,736.87	\$68,421.75	\$250.00	\$6,250.00	\$153.74	\$3,843.50
25	Terminate primary elbows in single phase padmount transformer	100	Ea	\$205.18	\$20,518.00	\$248.52	\$24,852.00	\$168.10	\$16,810.00	\$111.25	\$11,125.00
26	Install 1/0 underground triplex service wire	3000	Ft	\$2.70	\$8,100.00	\$0.81	\$2,430.00	\$1.00	\$3,000.00	\$0.55	\$1,650.00

	Install 4/0 underground triplex service										
27	wire	1000	Ft	\$3.11	\$3,110.00	\$0.81	\$810.00	\$1.00	\$1,000.00	\$0.75	\$750.00
28	Install 350 underground triplex service wire	1000	Ft	\$3.24	\$3,240.00	\$1.13	\$1,130.00	\$2.10	\$2,100.00	\$2.15	\$2,150.00
29	Install underground street light service wire	1000	Ft	\$2.02	\$2,020.00	\$0.67	\$670.00	\$1.00	\$1,000.00	\$0.49	\$490.00
30	Install secondary pedestal	20	Ea	\$275.98	\$5,519.60	\$65.24	\$1,304.80	\$150.00	\$3,000.00	\$69.80	\$1,396.00
31	Terminate underground triplex service wire in transformer/pedestal	70	Ea	\$60.62	\$4,243.40	\$36.54	\$2,557.80	\$100.00	\$7,000.00	\$52.00	\$3,640.00
32	Install three phase padmount transformer - 75kVA - 1000kVA	7	Ea	\$559.39	\$3,915.73	\$942.36	\$6,596.52	\$1,100.00	\$7,700.00	\$1,122.72	\$7,859.04
33	Install three phase padmount transformer - 1500kVA - 2500kVA	3	Ea	\$986.28	\$2,958.84	\$2,028.78	\$6,086.34	\$2,250.00	\$6,750.00	\$1,330.00	\$3,990.00
34	Install three phase preformed concrete transformer pad	10	Ea	\$501.09	\$5,010.90	\$285.31	\$2,853.10	\$325.00	\$3,250.00	\$321.99	\$3,219.90
35	Terminate 3C 1000 kCMIL primary cable on pole	6	Ea	\$395.52	\$2,373.12	\$938.39	\$5,630.34	\$2,750.00	\$16,500.00	\$650.00	\$3,900.00
36	Terminate 3C 1/0 primary cable on pole	15	Ea	\$329.60	\$4,944.00	\$542.81	\$8,142.15	\$1,500.00	\$22,500.00	\$475.00	\$7,125.00
37	Terminate 1C 1/0 primary on pole	15	Ea	\$197.76	\$2,966.40	\$294.29	\$4,414.35	\$475.00	\$7,125.00	\$106.25	\$1,593.75
38	Terminate primary elbows in three phase padmount transformer	60	Ea	\$615.54	\$36,932.40	\$745.56	\$44,733.60	\$558.90	\$33,534.00	\$371.25	\$22,275.00
39	Install Seed and straw	5000	Ft	\$3.88	\$19,400.00	\$1.42	\$7,100.00	\$1.50	\$7,500.00	\$2.15	\$10,750.00
40	Install sod	1000	Ft	\$4.20	\$4,200.00	\$1.31	\$1,310.00	\$11.00	\$11,000.00	\$5.25	\$5,250.00
41	Install #6 Duplex	5000	Ft	\$2.02	\$10,100.00	\$0.67	\$3,350.00	\$1.00	\$5,000.00	\$1.02	\$5,100.00
42	Install 4-way 200 amp junction	9	Ea	\$1,105.07	\$9,945.63	\$27.39	\$246.51	\$62.10	\$558.90	\$59.75	\$537.75
43	Install single-phase terminating cabinet	10	Ea	\$715.25	\$7,152.50	\$130.87	\$1,308.70	\$735.00	\$7,350.00	\$318.75	\$3,187.50
44	Saw cut by foot	1	Ft	\$36.84	\$36.84	\$7.50	\$7.50	\$2.25	\$2.25	\$15.50	\$15.50
45	Installation of vault	2	Ea	\$3,683.56	\$7,367.12	\$1,405.98	\$2,811.96	\$2,500.00	\$5,000.00	\$351.87	\$703.74
46	Remove single-phase transformer pad	75	Ea	\$226.69	\$17,001.75	\$130.87	\$9,815.25	\$78.80	\$5,910.00	\$133.12	\$9,984.00
47	Install small hill saver	5	Ea	\$244.06	\$1,220.30	\$111.85	\$559.25	\$210.13	\$1,050.65	\$160.00	\$800.00
48	Install Inground flush mount box (UV-	50	Ea	\$1,289.25	\$64,462.50	\$78.47	\$3,923.50	\$105.06	\$5,253.00	\$41.50	\$2,075.00
49	Install grounding assembly in existing padmount transformer	10	Ea	\$226.69	\$2,266.90	\$121.26	\$1,212.60	\$131.33	\$1,313.30	\$344.85	\$3,448.50
50	Additional driven ground rods	30	Ea	\$80.71	\$2,421.30	\$121.26	\$3,637.80	\$30.00	\$900.00	\$58.75	\$1,762.50
51	Removal of three-phase padmount transformer 75 KVA- 1000 KVA	6	Ea	\$810.57	\$4,863.42	\$942.36	\$5,654.16	\$1,200.00	\$7,200.00	\$728.75	\$4,372.50
52	Removal of single phase padmount transformer 15 KVA – 75 KVA	75	Ea	\$260.09	\$19,506.75	\$130.87	\$9,815.25	\$735.00	\$55,125.00	\$447.50	\$33,562.50
53	Removal of in-ground splice vault	1	Ea	\$1,841.78	\$1,841.78	\$346.73	\$346.73	\$1,500.00	\$1,500.00	\$187.50	\$187.50
54	Installation of 36" x 18" concrete street light stump	40	Ea	\$736.71	\$29,468.40	\$438.20	\$17,528.00	\$300.00	\$12,000.00	\$284.37	\$11,374.80
55	Hand trenching and digging (by the	1	Ft	\$200.00	\$200.00	\$13.81	\$13.81	\$9.72	\$9.72	\$5.62	\$5.62
33	foot)										

TOTAL	\$833,382.28	\$742,115.05	\$719,921.82	\$565,680.49
Will vendor hold pricing firm? Renewal Option 1	4% increase	4% increase	2.5% increase	4% increase
Will vendor hold pricing firm? Renewal Option 2	4% increase	4% increase	2.5% increase	4% increase
Will vendor hold pricing firm? Renewal Option 3	4% increase	4% increase	2.5% increase	4% increase
Will vendor hold pricing firm? Renewal Option 4	4% increase	4% increase	2.5% increase	4% increase

Recommended vendor: Electra Grid Solutions LLC 2350 US 31 NW Hartselle, AL 35640 P: 205-249-2952

email: bids@electrgridsolutions.com